1.

1 7Rl 200 E&A2] At a 719 712 &
R P

® 200 +a @ 200—a
200

a
@% @7

X, =

® 200a



@ x3,y°

@ 3x,x2

@ —a,-b

® 7.7a

@ 2x,-5x



@ 2x>x

@ 2x=6

@ -x+5=-x+5

@ 1<3



Hlo
)

il
~

~,
__OO

juy
K
el
L,

@ 3x=0

DO 2x-3=x+2

@ 6x+3=3(1+2x)

@ x-1=1-x

® 3(x+2)=4x+38



@ 1 3 2

3 0



® 2x-10=3

4 X
—_ :1_7
®%x+3 5



@ 4 3 3 @ 11 ® 12

@D 2






sholat,

23

g

WSl F A, B, C, D el 3
I A5

3

T
T otal

go A=
Sol2

°f

J—

TN

N

y\

A(2,0), B(g,-4), C€(0,-3), D(3,0)



10. Zol7k S m Q1 7127F Vin/s ©] £ &2 Zol7t 1km Q) the] S ¢4
vl 14 27 A5tk 2 VE S EARE Ao g vehdlelet

GEIV: m/s



11. x=2 y= —% o, 3xy — 242 O] ZHS FEFHY

@ -10 @ -5 3 -2 @ 3



12, of® chabA] A A 2x - 1€ Wokd 242 FEate] HYHU 5x—3
o] H|gich. A AL Al B2w?

O -x-1 @ -x+1 ® x+1
@ x-1 B x



13. u}om,_y+3°ﬂ/ﬂx4741 SaydATE LT W, da-b
o] gh2?

D 1 @ 3 A3 5 @ 7 B 9



14. Ya T &4 92 A2?

@D a=bolHa-c=b-co|t}

@ 3a+4=4-6b°]" a=-2b°|tt.
® gzgoludzazsbom.

@ ac=bcClHa=>hbolth(F, c#0)

® a+b=c+bOo]Hag=co|t}



15. o2 3 A4 RS nF ekt
@ 2-x+1=0 © 2x+5
© 3-3=-2 @® d—y=2+1
@ 3x-1<2x ® 03x+1=-2

o e
D =g

B =



HelA €7He 2 wie]l 25 Bl A% 50km & 7he A AR AE
BFAL Al 30km 2 7h= A Abofolls 4 AIZE 20 22 AZE Aol 7t
BT 7 AH Arolo] AEE xkm 2t & o], Fohs Ao 2

16.

29

X X 260 X X

— == — — — — =420
®50+30 60 ®50 30
@%—%zmo @3%—%:260

X x 260

© -3 %0



17. Al 0(0, 0), A(-2, 5), B(a, —4) 7t &4 flofl A& o, a °] &
ool et

Bea-



18.

1

A
il

[e)

e

=]
=
o] el
@ 8500 Y

@ 10000 &

F& 917kl 4 200091
ool

] O
=

291 Fof
ozﬂ/\‘:}. ] ]%__4%}

@ 9000 ¢

3 10500 &

Foretr

® 9500 ¢

ore Y 800



19.

w27 el A g el 7HzE] 2 B A% 2 km 2 dolrta, 39
AH Mo & e A% 6l 2 Hol £oh & wj $2 47ko]
Ak, GolA T 0] A Fatelal,

B e km



-3x+5 ol "iske] 37(1) 4 2/(2) & #t= F-5tofz=t.



o9

g%‘ﬂﬂ,xﬂ%k

’1’

1
2

kol -

-2x+39]

=+ f(x)

TR

0 | <

o 1<

0O | <A | <
-
— | <o | <

Q@ ©

S —
[eR RSN RS

©@ ©



22. & B7] FolA Al 3 AREH §19] M =T =eteh

[ 127]]
@ (2.-1) © (0,-2)
© (-7.-1) @ (-5,0)
@ (-100,-101) @ (4,-5)




G

ﬂu.o

olct,
0

1) =

f(=

f)+

@



24.

MR E2d e T EYstF A9 B7F ok A9 EY9 =
120 71, B9] EY 9] 41 30 7] o] 1L A7} x v} 3] A5} E9F BT}y
uH7] &) Agkeha gt x 9} y o TAAS el BUF 83| H T uf, A
+ 2 | dsteA] Fot?

O y=2x189 @ y=3x287 @ y=4x20}7
@ y=5x34F  ® y=6x 34



25. & T T=
= wi91e] F o 51 2 a7t a
%, 42 1] Sy ) SERE
A e o
ey R R
J tyO] 1:; /\tx
’y/\].o1()”_ﬂ]1.—ﬁ]— .
‘_74121}21_
= JH=z=2

@
"
?¥> |
T |
@ _/
A —075
. @
® I yA
yA —O¥>
4 >
o =~




